20254 & (552E]) FrLoPhyT [R#E=]

RE{E R : 2025458308 ()

RS- E/8HhN)—95T PAR T2 =BT )L TER
(BF) F4/T1-L¥ 15— 6,208 [21=L-F4—2X 5,123Y [3]=7Ak 58817 SiNELk: 1384
JEfi. NET i E S B PHC 1R (OUT/IN) JEfL NET i ES il PHC 1R (OUT/IN)
1 67048 KX— =HRE 23 90 (42/48) 51 77 & Tk FL—MUs 31 108 (55/53)
2 68 O 8K Kt 23 91 (44/47) 52 77 {REE &k g 16 93 (47/46)
3 700mKkE RfE JL—HMLIE 23 93 (49/44) 53 77 E% &— @LE 22 99 (49/50)
4 70 O R & et 19 89 (46/43) 54 71 BR BE R/—54%90 16 93 (46/47)
5 700 &Il fEF =4 21 91 (45/46) 55 77 ¢ =ik ) ERRE 28 105 (52/53)
6 70 O #H AE EEH 8 78 (37/41) BG 56 77 #@ F— WUE 16 93 (45/48)
7 120ER BUE R/iS—980 11 83 (43/40) 57 77 ER gh K& 8 85 (40/45)
8 T720#kAR B Ho® 9 81 (41/40) 58 77 {Elu  IEBRl HOLE 8 85 (39/46)
9 72 0¥ it =8 14 86 (43/43) 59 78 K Bx #osR 13 91 (47/44)
10 720 MEH EA HOH 8 80 (38/42) 60 78 EH FE =HERE 6 84 (44/40)
11 1BOFHHE HE Ho® 19 92 (49/43) 61 78 Ak HE HOH 7 85 (43/42)
12 1BOEE HE 8 17 90 (47/43) 62 78 B {ZE HOH 23 101 (50/51)
13 730 &% g e 19 92 (47/45) 63 78 K ZiH WNEEE 17 95 (46/49)
14 7BONB BB JL—MIE 19 92 (45/47) 64 78 M EE BHEE 24 102 (50/52)
15 73 O &k H =HH 12 85 (41/44) 65 78 ¢ HI - fEE BEHRE 25 103 (48/55)
16 73 O W% Eh RBEFYY 25 98 (45/53) 66 78 KM T RERE 24 102 (48/54)
17 74 04X EIE ERRE 23 97 (49/48) 67 78 RE¥ ik =HE 8 86 (39/47)
18 74 O 85K MBAKER Mli& 13 87 (44/43) 68 79 dti Rt BBIL 12 91 (51/40)
19 740FE B EHRAE 21 95 (47/48) 69 79 AX ¥ EHEE 26 105 (58/47)
20 74 0%kAXR 5T neEEE 18 92 (46/46) 70 79 & E— ERRE 8 87 (47/40)
21 74 Ik Bl =@eE 7 81 (40/41) 7179 BiF  EX 13 92 (48/44)
22 74 H# —IE JL—ML& 16 90 (44/46) 7279 HHE  E JL—Mus 11 90 (47/43)
23 74 EW KE =ZmRE 22 96 (47/49) 7379 ki % JL—Mus 21 100 (51/49)
24 74 KXE R— EBRE 30 104 (50/54) 74 79 KE wR FJL—MLE 19 98 (50/48)
25 74 kX EAKR HZ X 19 93 (44/49) 75 79 S /M EE ot 11 90 (45/45)
26 75 =Bk AR EHEE 11 86 (45/41) 76 79 IEEH ME(E Ho# 21 100 (50/50)
27 75 ME AR BB 8 83 (43/40) 77 719 #F —IE HmBEE 14 93 (47/46)
28 75 @ A e 8 83 (42/41) 78 79 RIE FE =SHF 18 97 (48/49)
29 75 {EAK 3PN 12 87 (44/43) 79 79 &2 EX #wlE 17 96 (46/50)
30 75 % BHH  REE 10 85 (42/43) 80 80X FE T =HRE 14 94 (50/44)
31 75 INE HEARBER W& 8 83 (41/42) 81 80 &1 Ei# =HE% 10 90 (48/42)
32 75 XK —2Z EHREH 14 89 (44/45) 82 80 A E— Al 21 101 (52/49)
33 75 #IU FREI| Ki 25 100 (49/51) 83 80 BB & W& 22 102 (50/52)
34 75 £ —Ih 1k 15 90 (43/47) 84 80 #iK PN 11 91 (44/47)
35 76 % A *EF JL—MLE 20 96 (51/45) 85 80 ¥ |RAK i ERRE 29 109 (53/56)
36 76 ZiH IE2 R/S—959Y 17 93 (49/44) 86 80 /MU BT =8 15 95 (45/50)
37 76 PR B— WEFYY 9 85 (45/40) 87 80 A HWE EHRE 11 91 (43/48)
38 76 R FKE BBsL 10 86 (45/41) 88 80 kB HHX RBEE 14 94 (42/52)
39 76 ED Mg weFY> 11 87 (44/43) 89 81 $£H BE We 13 94 (52/42)
40 76 % BiR = ORIS—HaYY 13 89 (45/44) 90 81 % RiH #H ERRE 19 100 (52/48)
4 76 BE BE REFYY 16 92 (47/45) 91 81 [ER B EHEE 24 105 (55/50)
42 76 {EaK BEEF K& 11 87 (43/44) 92 81 =M g #HosE 12 93 (47/46)
43 76 =)l FE =EE 12 88 (42/46) 93 81 @A BEE =mHRE 23 104 (52/52)
44 76 {EE EEih HOH 18 94 (45/49) 94 81 &K M R/N—HaY 15 96 (47/49)
45 76 % 5 LS =HRE 14 90 (43/47) 95 81 % —% HOLNE 7 88 (43/45)
46 76 EE 51T RS—Da9v 10 86 (41/45) 9% 81 EH+E B R—v59v 17 98 (48/50)
47 76 BT B—H =55 11 87 (40/47) 97 81 FHH B RERE 10 91 (45/46)
48 76 KAIA BH =H% 16 92 (43/49) 98 81 TR = HOH 18 99 (48/51)
49 71 BB f& g 23 100 (53/47) 99 82 TR FxXx =4 14 96 (52/44)
50 77 X i HE WAISVYY 9 86 (44/42) 100 82 ¥ 5K  EX & 11 93 (50/43)
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20254 & (552E]) FrLoPhyT [R#E=]

RE{E R : 2025458308 ()

RS- E/8HhN)—95T PAR T2 =BT )L TER
(BF) F4/11=LF 15— 6,208Y [2]=LF4—2X 5123Y [8]=7Ok 5881Y SMEL: 1384
JEfi. NET i E S B PHC 1R (OUT/IN) JEfL NET i ES il PHC 1R (OUT/IN)
101 82 EJI IE—ER JL—MLE 14 96 (50/46) Ri5 =i# fi2 g 16

102 82 1HEZ —ER L& 21 103 (51/52) Ri5 s F— BbSE 12

103 82 &K EHh JL—MLE 18 100 (49/51)

104 82 ek BB =ERIER 13 95 (46/49)

105 82 5 /ME ik ik 12 94 (45/49)

106 82 FHAHF &HfE EoH 8 90 (43/47)

107 83 #it= [HER Kk 20 103 (55/48)

108 83 {E#k Fh EHRE 13 96 (51/45)

109 83 EE E K 19 102 (51/51)

110 83 5 fE  HM mSEE 15 98 (48/50)

111 83 =8 ®H JL—MLE 16 99 (49/50)

112 83 EQO b PN 19 102 (50/52)

113 83 ik B = 13 96 (47/49)

114 83 #&* EE EHEE 28 111 (53/58)

115 84 >« BEAR  HEif W& 18 102 (53/49)

116 84  F9Rd A OEHERE 16 100 (52/48)

117 84 =H BE =EEH 16 100 (51/49)

118 84 Bk TFMEF R/S—9aHv 19 103 (50/53)

119 84 JII%E FIPPN 10 94 (44/50)

120 85 ¢ &K B K 10 95 (48/47)

121 85 #4K IfE =4 13 98 (48/50)

122 85 #4K RE =HRE 35 120 (58/62)

123 86 {ERAK DA REIERE 25 111 (58/53)

&
2

124 86 &SR  EHA
125 86 % F Lt &

19 105 (52/53)
13 99 (48/51)

&
4

=
X
126 86 GRIE ZA =
=
#t

IR 11 97 (47/50)
127 86 AL BB =HEE 6 92 (45/47)
128 86 EEE BB HooE 11 97 (46/51)
129 8 K= IR wneEE 15 101 (46/55)
130 86 % = HE =HRE 28 114 (53/61)
131 88 EE #HI EHEE 22 110 (58/52)
132 8 &% B =EHeE 20 108 (54/54)
133 8 HEF E— JL—Mus 25 113 (56/57)
134 88 #ith XFE EHEE 16 104 (52/52)
135 89 ¥ JIli& B =EERE 14 103 (50/53)
136 89 EiE & EHEE 22 111 (54/57)
137 90 B[R #FX #Ho# 10 100 (45/55)
138 97 S {kfE  /\ER M&BELX 23 120 (62/58)
Ri5 BAT & B mHRE 19
Ri5 &I IB— =HRE 24
Ri5 fit] & ¥ OEWEE 23
Ri5 FHh B #wE 10
Ri5 Bk o RI8—=9590 13
Ri5 EZ 7N HEA TG 25
Ri5 =43 K EHEE 2
Ri5 & IR Jwls 11
Ri5 AR B} EWHEE 19
Ri5 WHE BB BbsL 2
Ri5 I B =HRE 19
Ri5 ENES BE— =EWEE 17
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20255E [ (2] FrLoPhyT
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[RE=R]

RS- E/8HhN)—95T PAR T2 =BT )L TER
(&ZF) T4/[1=LF¥25— 6,208Y [2]=L-F4—2X 5,123Y [3]=700k 5881Y SINEX: 234
JEfi. NET i E S B PHC 1R (OUT/IN) JEfL NET i ES il PHC 1R (OUT/IN)

1 720#FEF ®F Wé 20 92 (47/45)

2 75 0%l R AmLE 18 93 (48/45)

3 T508K EAZ WE 19 94 (46/48)

4 76 0OHEH HF¥ =HRE 16 92 (46/46)

5 7102 ¥ BBk 11 88 (45/43) BG

6 770ME FxX HO® 17 94 (47/47)

7 180 ) =EBEF nESEE 11 89 (46/43)

8 780 XKA #KF HO® 11 89 (46/43)

9 780 KH H#I WaELX 18 96 (49/47)

10 790%HF 13U & 13 92 (47/45)

1179 #%K BEE HOH 17 96 (47/49)

12 80 =5 HF EHEE 22 102 (52/50)

13 82 E BE weZs; 8 90 (47/43)

14 82 A EM W& 35 117 (58/59)

15 82 % MNPk == TEWE 15 97 (47/50)

16 83 IEik WF EHREE 20 103 (55/48)

17 83 EA/INFRF =HEE 23 106 (55/51)

18 83 off BEY #HoLE 18 101 (49/52)

19 83 HJIl XEF =HEE 24 107 (50/57)

20 86 X iE LOSR EHRE 24 110 (55/55)

21 86 A BEE WA 4 90 (43/47)

22 88 ¥ K LAF RESERE 14 102 (52/50)

23 92 X £ EHKF JL—MLE 17 109 (55/54)
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